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Tailgater Alert

Focus: Radical equations and problem solving.
Tin
Group size: 2-3

Materials: Caleulators or square-root tables

15-25 minutes

The faster a car i traveling,the more istance it
needs tostop. Thus it isimportant for drivers o
allow sufficient space between their vebicle and.
the vehicle infront o them. Police recommend
that foreach 10 mph of speed, adriver allow
1 car length. Thus adriver going 30 mph should
have atleast 3 carlengths between his or her
vehicle and the one n front.

In Exercse Set 103, the function
(L) = 2VT was used to find the speed, in
miles per hour that a car v travelng whe it
leftskid marks L feet long,

acmvity

1. Each group member should estimate the
lengthofa car in which he or she frequently
travels. (Each should use a different length,
if possible)

2. Using a calculator as needed, each group
‘member should complete the table below.

Column 1 gives a cars speed s, and column 2
lists the minimum amount of space befween
cars traveling s miles per hou, as recom-
‘mended by police. Column 3 s the speed
that a vehicle could travel were it forced to
stop in the distance listed in column 2, using
the above function.

Column1 | Column2
s(in miles. Lis)
per hour) (n fect)

Column 3
r(t) (n
miles per hour)
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. Determine whether there are any speeds at

‘which the "1 car length per 10 mply” guideline
‘might not suffice. On what reasoning do you
base your answer? Compare tables to defer-
‘mine how car length affects the results. What
recommendations would your group make

10 anew driver?
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